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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 469 1.1 0.9 5 22.7 94.4

2 490 1.1 0.9 3 37.3 98.6

3 486 3.3 2 11 30.2 97.8

4 484 2.1 1.4 11 19.4 97.4

5 481 3.3 2.4 10 33.3 96.8

6 442 1 1.1 9 11.1 88.9

7 462 1.2 1 7 17.1 93

8 462 2.3 2.8 19 12.3 93
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 
4 
FT 


(a) (i) 


 in series 
1 1 1 


(ii) 


1 1 1 


(b) 
Tick 3,4,5 3 3 3 


(c) (i) 
Total resistance in series = 12 + 12 = 24 1 1 1 1 


(ii)  I = 6 ÷ 24 (ecf) subs (1) 
= 0.25 A / ¼ A (1) 


1 
1 2 2 2












Sticky Note

This is not a symbol for a variable resistor. (0) Do you know what the symbol looks like? Does it matter where it is placed in the circuit?



Sticky Note

This is a copy of the circuit diagram above. The lamps are connected in series. (0) What does the parallel circuit look like? 



Sticky Note

This question tests knowledge of the properties of series and parallel circuits. Two ticks are in the correct boxes. (2) Can you identify the incorrectly ticked box? 
CLUE: What happens to the total resistance of a circuit if lamps are added in parallel? 







Sticky Note

The equation shows that total resistance is found by adding resistance 1 to resistance 2. The working shows that resistance 2 has been squared. What should the answer be? 




Sticky Note

The correct voltage of 6V has been substituted into the equation. However only the resistance of one of the lamps has been substituted. The total resistance value calculated above should have been used (156). (0)












Sticky Note

This is not a symbol for a variable resistor. (0) Do you know what the symbol looks like? Does it matter where it is placed in the circuit?



Sticky Note

The question asks for the diagram of 2 lamps in parallel with a battery. The lamps are drawn in parallel however there is an additional component in the diagram. (0) 



Sticky Note

This question tests knowledge of the properties of series and parallel circuits. One tick is in the correct boxes. (1) Can you identify which one it is? 
CLUE: Statements 3 and 6 cannot both be true. 

Try to identify the two other correct statements. 







Sticky Note

The equation shows that total resistance is found by adding resistance 1 to resistance 2. The working shows that resistance 2 has been multiplied by 2 but R2   does not mean  2 x R. 
What should the answer be? 




Sticky Note

The calculation showing 168 divided by 6 equals 28 has not been used since the answer of 28 has been crossed out. Therefore it is ignored. The other calculation shows 6 divided by 36. 6 is the correct voltage and 36 is the answer from (i). This is an error carried forward. However the answer is 0.1666666 recurring so should have been rounded to 0.167 or 0.17. (1)












Sticky Note

This is not a symbol for a variable resistor. It is very close. (0) Do you know what the symbol looks like? Does it matter where it is placed in the circuit?



Sticky Note

The diagram is not the clearest or neatest but it does show 2 lamps in parallel with a battery. (1) 



Sticky Note

This question tests knowledge of the properties of series and parallel circuits. Two ticks are in the correct boxes. (2) Can you identify the incorrectly ticked box? 
CLUE: What do you know about current in series circuits? ? 







Sticky Note

Correct answer with workings shown. (1) 



Sticky Note

The correct values have been substituted into the equation to give correct answer. (2)
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Examiner
only


4. Electricians need to understand the differences between series and parallel circuits and how
they behave.


(a)	 (i)	 Add a variable resistor to the series circuit below which can act as a dimmer to 
control the brightness of the lamps.	 [1]


© WJEC CBAC Ltd.


(ii)	 Draw a circuit diagram to show two lamps connected in parallel to a battery.	 [1]


(b)	 Tick (√) the boxes next to the three correct statements about these circuits.	 [3]


Connecting lamps in parallel instead of in series does not change the current


As current passes through each lamp in series it gets smaller


The voltage across each lamp in parallel is the same


Connecting extra lamps in series decreases the current


The current through the battery in the parallel circuit is the sum of the 
currents through each lamp


The voltage across each lamp in series is the same as the battery voltage







(3440U10-1) Turn over.


3
4


4
0


U
1


0
1


0
7


7
Examiner


only
	 (c)	 A series circuit is set up using a battery and two lamps. 


The battery voltage is 6 V and each lamp has a resistance of 12 Ω. 


(i)	 Use the equation:


R = R1 + R2


to calculate the total resistance (R) of the two lamps.	 [1]


R = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . Ω


(ii)	 Use the equation:


© WJEC CBAC Ltd.


current =
voltage


resistance


to calculate the current in this series circuit.	 [2]


Current = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . A
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Question Marking details 
Marks Available


AO1 AO2 AO3 Total Maths Prac
5 
FT 


(a) 


all correct (4), 4 correct (3), 3 correct (2), 1 or 2 correct (1) 


4 4


(b) (i) Sun(light) 1 1 


 (ii)  
Insects or tadpoles (ecf) 1 1


 (iii)  Insects or tadpoles (ecf) 1 1


 (iv)  Otters or pike 1 1


(v) Perch compete for food with frogs (1) 
Less competition means increase in population so disagree (1) 
OR pike/otter/heron only eat perch (1) 
so numbers decrease so disagree (1)


2 2 


  Question 5 total 10 1 7 2 10 0 0 












Sticky Note

Each box should have one answer and 3 boxes have been correctly completed (2). The bottom 2 boxes contain 2 names, tadpoles and insects, so they do not get any marks. Can you decide which box should contain insects? 







Sticky Note

The answers are producers. This is a common mistake (0). Producers need energy to grow. What is this energy source?



Sticky Note

Primary consumers feed on plants (the algae or pondweed). Stickleback do not (0).  Which living things feed on plants in this food web? 



Sticky Note

Correct answer (1). 



Sticky Note

Correct answer (1)



Sticky Note

This is a reasonable answer which was not covered in the marking scheme (1). It does not say how they would be affected by the loss of a food source (tadpoles). 












Sticky Note

Only 1 box has been correctly completed (1).  In this answer it shows that insects feed on tadpoles. But in the table, it shows that only perch feed on tadpoles. So insects must be in the wrong place. The best way to answer the question is to start from the bottom and work upwards. You will see from the table that tadpoles and insects feed on pondweed and algae so they fit in the bottom 2 blank boxes. But which way around? The bottom right box has 3 arrows coming from it but the bottom left has only 1. Use the table to find how many types of living things feed on insects and how many feed on tadpoles. Does this help you decide? Now try to complete the rest of the food web in the same way. 







Sticky Note

The answer is a producer. This is a common mistake (0). Producers need energy to grow. What is this energy source?



Sticky Note

Primary consumers feed on plants (the algae or pondweed). Otters do not (0). Which living things feed on plants in this food web? 



Sticky Note

2 answers are given but both are correct (1). 



Sticky Note

Correct answer (1). 



Sticky Note

This is an incorrect statement (0). There is a food source that is eaten by frogs and perch. Can you identify which it is? 












Sticky Note

All boxes are filled in correctly (4). 







Sticky Note

The first 3 answers are correct (3 x 1).



Sticky Note

Heron cannot be the answer since the question asks for carnivores that compete with herons. The answer must be another type of animal. What other animals feed on the same living things as herons? 



Sticky Note

There is nothing incorrect about the answer but it did not gain any marks (0). It did not answer the question. The relevant part is 'eat the same things'. So if frogs die out, does the perch have any competition for food? How will this affect the numbers of perch? 
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5. Natural Resources Wales is responsible for managing and monitoring water quality in Wales.


The number of organisms present in water is one indicator of pollution levels.
The feeding relationships in a healthy river are given in the table below.


Food source Eaten by


pondweed tadpole
insect


algae tadpole
insect


insect
stickleback


perch
frog


tadpole perch
stickleback perch


frog
heron
otter
pike


perch
heron
otter 
pike


(a)	 Use the information above to complete the food web below.	 [4]


pike otter


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


algae


heron


pondweed
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(b)	 (i)	 Name the source of energy for the food web.	 [1]


		 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)	 Name one primary consumer in the food web.	 [1]


		 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(iii)	 Name one herbivore in the food web.	 [1]


		 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(iv)	 Name one carnivore that competes with herons.	 [1]


		 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(v)	 It is suggested that if all the frogs died from a disease then the number of perch 
would not be affected because they do not feed on frogs.


Explain whether you agree with this statement.	 [2]


© WJEC CBAC Ltd.
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Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 
8 
FT 


(a) (i) 
0.88 × 1.75 (1) subs 
= 1.54 [W] (1) 


1 


1 
2 2 2


(ii)  Scales 2 cm Ξ 10/15o and 2 cm  Ξ 0.2 W (1) 
7 correct points ± < 1 square tolerance (2)  
6 correct points ± <  1 square tolerance (1)  
5 or less correct points (0)  


suitable smooth curve (1) 


4 4 4 4 


 (iii) I 
Agree with graph e.g. 1.48 ± 0.2 1 1 1 1 


II Increases then decreases (1) 
maximum at 45o (1) 


2 2 2 2 
















Sticky Note

Correct workings and answer (2).







Sticky Note

The scales are correct (1). Note the squiggle between 0 and 0.60 on the y-axis. This is acceptable. There is 1 plotting error (1). Can you spot which it is? The points were not joined by a smooth curve (0). Total mark 2. 



Sticky Note

This is a correct reading from the graph (1).



Sticky Note

The answer recognises the increase and decrease of power as the angle increases. It also refers to a certain point. The angle of this point was expected (1). What is this angle? 
















Sticky Note

Correct workings and answer (2).







Sticky Note

The scale on the y-axis does not cover at least half of the grid (0). The plots are correct (2). The curve is smooth but there is an uneven spread of points. 4 points are above the line whereas only 1 is below it. (0) Total mark (2). 



Sticky Note

This is a correct reading from the graph within tolerance (1). 



Sticky Note

This failed to answer the question (0). How would you explain to this student what the question is asking? 
















Sticky Note

Correct workings and answer (2).







Sticky Note

The x-axis scale fits well with the data but the y-axis scale does not. It is difficult to plot points with intervals of 0.3. There are at least 2 plotting errors and the curve is not smooth (0). Try plotting power values against the scale.  



Sticky Note

This is a correct reading from the graph (1). However, because of the scale used it is difficult to locate 55 degrees. 



Sticky Note

The answer recognises the increase and decrease in power and also the angle at which the change occurs (2). 
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8. To get the greatest output from solar panels, they need to point in the direction that captures the
most sun.


The Northern Alberta Institute of Technology (NAIT) in Canada has designed a solar photovoltaic
(PV) array consisting of six pairs of solar PV panels. They provide installers with information
about how tilt angles and snow cover affects electrical output.


After snowfall, the left hand side of the system is cleared of snow as shown below.


Points of interest from 2013-2014


• highest single panel output energy for one day = 1.82 kWh


• highest array output energy for one month = 442 kWh


A group of students investigate how the power output from a solar PV cell depends on its tilt 
angle. The manufacturer of the solar cells makes the following claims.


maximum power output = 4 W
performance = 60%


area = 0.01 m2


Turn over.


No snow cover


Snow
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tilt angle


lamp


The results of their investigation are shown below.


Solar cell tilt angle
(degrees)


Output voltage 
(V)


Output current 
(A)


Actual power 
output (W)


90 0.66 1.30 0.86


75 0.80 1.60 1.28


60 0.84 1.70 1.43


45 0.90 1.80 1.62


30 0.88 1.75
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


15 0.72 1.45 1.04


0 0.58 1.15 0.67


(a)	 Use the information above to answer the following questions.


(i)	 Use the equation:


power = voltage × current


		 to complete the table.	 [2]
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(ii)	 Use the data in the table to plot a graph on the grid below and draw a suitable line.
[4]


Actual
power 
output 
(W)


Tilt angle (degrees)


(iii)	 Use your graph to answer the following questions.


I.	 Estimate the power output for a tilt angle of 55°.	 [1]


Power output = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . W


II. Describe the relationship between the actual power output of the PV cell and
the tilt angle.	 [2]


Turn over.












© WJEC CBAC Ltd. 19


FOUNDATION TIER 


SUMMARY OF MARKS ALLOCATED TO ASSESSMENT OBJECTIVES 


Question AO1 AO2 AO3 TOTAL MARK MATHS PRAC 


1 3 2 0 5 2 0 


2 3 0 0 3 0 0 


3 8 3 0 11 0 0 


4 6 2 3 11 6 11 


5 1 7 2 10 0 0 


6 3 0 6 9 0 0 


7 3 4 0 7 4 3 


8 4 11 4 19 14 15 


Total 31 29 15 75 26 29 
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